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Summary. The concept of the "spectral manifold" is introduced by
M. Radjabalipour [4] as a generalization or a modification of the spectral
maximal space. In this paper, we show that the spectral manifolds of the
simple unilateral shift So on H are only {0} and H. And also we investi-
gate some properties of the spectral manifolds of So*.

1o Preliminaries. For a bounded linear operator T on the complex
Banach space X, let

a(T)--{ e C: (I--T)f()=_O for some non-zero analytic function
f; Dr(2)--X},

where D()--{w e C:[--2]r} for some r)0. In case where a(T)--, T
is said to have the single-valued extension property. For a closed set
acC, let

Xr(a)--{x e X: (I--T)f(w)----x for some analytic function f; C\a-X},
and let Xr(r) [.J {XT(a) av and a is closed} for an arbitrary set
The set Xr(r) is called the spectral manifold of T.

The ollowing proposition is immediate.
Proposition 1.

( i ) Xr(r) is a hyper-invariant (i.e., invariant under every operator
which commutes with T) linear manifold of T.

(ii) If rc r., then Xr(r)CXr(r.).
(iii) Xr(r)=Xr(ra(T)), Xr(a(T))=X and Xr()={0}.
(iv) Xr(a)c (T--oI)X for any closed set acC.

Proposition 2. If Xr(r) is closed, then we have a(TIXr(r))crUa(T)
where denotes the closure.

Proof. If xeXr(r), then xeXr(a) for some closed set act and
(oI- T)f(o) =_ x for some analytic function f; C\a--X. Since f(w) e Xr(a)
or any o e C\a by [1], x----(oI- T)f(o) e ((oi-- T)Xr(a)(oI-- T)Xr(r) or any
o e C\aDC\v. By the assumption and by Proposition 1, Xr(v) is a closed
invariant subspace o T and hence Xr(r)--((oI--TIXr(r))Xr(r) for any
e C\r. Next, if (I-- T)x =0 for any 2 e C\[r U a(T)-] and for some x e Xr(r),

then x e Xr(a) for some closed set act and hence (oI--T)f(o)==_x for some
analytic function f; C\a-X. Since (I-- T)[f()--(o-2)-x]=(I T)f()
--(oI--I+2I--T)(o--2)-x--x--x--(o--2)-(2I--T)x=O on C\[aU{2}], f((o)


